FagEhEMR S EEFERET RS Kik BF
20122E7H 78 ArthKikis
T—larT4ar7A78 1000 Xig/NF 0 EiR29°C KiE:245°C
7A78B 1300 KEELh =;R:29°C 7kigB:25.7°C
o 7K HIE | 2 BR BEXK |3 ZSE MK |4 WMEHRT |5 #E A |6 B HE |7 AL EE | 8 EA EF
100m |EILEE 22| X & B4|RIeE 24| K TFEE 23| LEeE a5 RiIsE 23| FHeE a1k FaE =)
57.80 57.94 58.50 1:00.82 1:01.34 1:02.08 1:02.66 1:03.77
B 7 fEH ¥BE | 2 MR HE | 3 =B M | 4 WME BT |5 BH EX (6 AL BEE | 7 AR §F E@ EF
200m WIsE B4|ELSE E2|RiIs®E B4 K TEE B3| XEfEMm 21| FHaE a1 | XS 2| K TFaE =)
AXE£8H | 20255 2:09.21 2:14.34 2:15.94 2:18.36 2:19.85 2:22.96 2:23.22
& 7OBH BE |2 B OB |3 KERA|4 W B |5 W ST |6 J\EEEH | 7 £F G B T%
400m A& a1 |FHaE =3| XS 2| K TFEE a1 |ElS® =3 ZEs® RN 22| K TFEaE =5
4:56.71 5:26.16 5:29.19 5:45.06 5:51.72 6:05.99 6:47.25 6:48.46
. 7 o kth FE |2 XKkB ELX |3 BE EBEXK |4 HREA| 5 BN B |6 =% WE | 7 LF &R RERR—ER
800m PN=TSE 21| XEmEMn 25| FEEE B3[KFaE =1 |FiaE 23 2LsE 21| LEE55% B2 K FaE =2
10:31.59 10:50.08 11:03.53 11:31.51 11:36.93 13:36.65 13:47.16 13:59.33
o 7OAER OH |2 BREBE |3 BE B | 4 HNE BN | 5 BH Hih | 6 HFE FEH | 7 RE RE deHt fnth
100m |RISE =22|RiIs® 22| LE5%E 23| X & B1[EZLUEE B4|85F 22|k FeE B5| K FaE =2
A£%H | 1:04.00 1:11.89 1:13.31 1:14.01 1:14.32 1:14.64 1:18.03 1:18.77
o 7FAR OB |2 AR BT |3 kH EX |4 R EH | 5 AF Mt | 6 WE RE | 7 BE BN @ it
200m WIsxE B2|RiIe® 22| XS B5|85% 22|k Fa=E B2| X TFaE a5 LEE B5|FHaE =2
AX£8H | 2:21.08 2:35.22 2:38.51 2:42.43 2:53.90 2:56.16 2:59.76 3:13.58
T 7 BHE WY |2 WHE X— |3 HFHE BR |4 BAX EBEH |5 FE K@ |6 BN BE | 7 #BERX = ® BF
100m |MIBE 4| K TFEE a5 K TFaE 22| XS =1 | XS =4|FHEE 22| FiaeE B3|fElE =4
XE$H | 1:06.62 1:08.98 1:16.32 1:16.85 1:18.98 1:21.33 1:22.18 1:25.39
T 7 EH #N |2 WE A— |3 & BF |4 F H— |5 FR K@ |6 BN BE |7 BAX = TR EA
200m |RNISE B4 KFEE B5|RLUSE B4 KFEE 21| XEmEm 24| FEHEE 22|FHE 23| XEmEm =4
AEFH 2:24.49 2:30.06 2:52.47 2:54.45 2:58.27 2:59.17 2:59.86 3:02.76
Nao54 | 7 BH ¥HE |2 R WX |3 WA —FE |4 B BHABR |5 kb ZFEth |6 HBA BKE| 7 MF BA EHFREZN
100m |RISE B4|RIEE 21| X & 21| FHeE 25| FHeE B3|k FaE Bi1[ZLUEE =3|fELSE =3
AE#H 1:00.61| K% 1:01.00 1:01.69 1:09.07 1:12.73 1:20.76 1:23.12 1:23.35
Naos4 | 7 R OHK |2 kil Eth | 3 RE E# | 4 STE MEh | 5 KB #K |6 A& 2B |7 BB X#H FE B2
200m WIsE B1|FHeE B3| XEfEm 22|fElsE 24| ZUSE B4|KTFEE B3nIssE B3| FHeE =1
X&H | 21717 2:42.35 2:46.88 3:05.26 3:08.00 3:10.52 3:31.11 4:03.01
BARL— | 7 PH —R |2 HMA BER |3 HP #HhE |4 ®KEX F |5 BHiE Ht | 6 EFEZN| 7 BE % SPE A5
200m PN=TEEE a1k FaE =2 |hiIsE B3| FHaE =4 ZUSE a1 |ElSE a3 EEE =3 |fElSE =4
2:25.61 2:36.62 2:37.40 2:55.03 2:55.65 3:02.17 3:05.61 3:16.33
7 OWIBE |2 XBEEMR |3 XFEE |4 BHUEE |5 FHSE |6 BLUSE | 7 LEERE 855
. BHE XA BX &KX EHE RTE I SE g BHAR Bk E M BH Mt
JL— =H #HEN EAX EH ZHE 1BE EH AE Ll B& =5 - EH BE EE —#
400m AR o Kep HE TRE ¥ w o BE i EA fFiE A KB BE HA
=5 WE —E HE K— NERENEE A E AE #X A EE B Eth
A&$ | 3:5048 3:56.79 4.02.87 4:14.26 4:17.28 4:27.74 4:33.00 5:01.96
(FE—ik® |AXEH 55.82 57.94 1:01.89 1:04.57 1:02.54 1:06.03 1:06.13 1:18.22
7 OWIBE |2 XFRE |3 ABEMR |4 FHEE |5 BEUSE (6 #BUSE | 7 LEEE
o BHE ¥5E #HE EBR WE —R® Ml st BHF Hsh Bif EH #E
AFL=UL=| HE #h HE A— AKX &Y BA = N KB SPE%13h B3t B
400m £ K TE BT RE & hig R BiE Hth EREZN TF &R
=5 EH EE BR &KX AR & =5 Hm— R AT Lt Bt
4:11.24 4:27.08 4:30.72 4:58.93 5:11.99 5:23.45 6:26.09
(FE—ik® |XEH 1:03.47 1:13.91 1:06.22 1:20.92 1:15.71 1:21.73 1:39.80




FasbI P EHREFEMAFREFTRE Kik

TF

20122E7H 78 BmmiKikis
T—larT4ar7A78 1000 Xig/NF 0 EiR29°C KiE:245°C
7A78B 1300 KEELh =;R:29°C 7kigB:25.7°C
o 7 SR BR |2 BR KW |3 REEX |4 F BME |5 BEK B |6 FHKBE|7 KB BE |8 KB AE
100m |RISE =3|RiIs® 22| X & =4 KFEE 22| FHeE a1ZUsE 23| X & a2 ZUsE =3
1:05.40 1:08.24 1:16.51 1:19.09 1:21.35 1:25.79 1:34.63 1:35.53
e 7R B | 2 BEREBEE |3 RE EX |4 BFR TR |5 BHEUMNY (6 KB AE| 7 M FE | 8 THHE ¥t
50m WIg® 22| FHeE 22| KEmEmh =4 |EILEE B5|RiIe®E =1FUEE B3| kFEE a1k FEE =2
33.39 37.54 38.84 40.79 42.74 46.72 48.14 48.17
T 7 OBERMER| 2 B TE |3 KAREM| 4 BT FEFF | 5 Hb kKx
100m | FHEE S4|ELEE 21| FHaE B2 KkFEE 22| KEEm =2
1:31.91 1:35.95 1:40.43 1:57.14 2:09.21
Nao54 | 7 SEBR |2 BENER|3 F ME |4 BB HF |5 KAREM| ¢ w®EUVHNY | 7 Fx BE | 8 ®BE T&
s5om |RISE =3 | FHEEE B4R TFERE 2| RFEE =5 | FREE 2| MIEE =1 |ZUEE =3 |BUEE =5
AEH 31.95 [ K&$n 33.23 36.46 37.38 39.45 39.66 39.78 41.23
7 WIBE |2 FHEE | 3 XFaEH
\ $E X EE R F ™M=E
JL— HiE Bx BEMESR s &5F
200m BRIVAY BEEREE Ny E=E
BRIE R =5 &4 B BF
RK&FH | 21050 | K&#H @ 2:13.71 2:24.55
(B—5kE) 30.10 35.17 32.70




	3512711-8-m
	3512711-8-f

